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IR % Hb 4 %5 % 45 4 47 (fn Kenyan, Nairobi, the Ugandan capital Kampala, the
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ANEE (R LE T I T 8 R AR B AT “AS A TR Az 381, DA T 52wl At 45 6L F) 3K
5 58—, B M vh 2 AR 2L AR TR AR 1 B i (A blast, rebel 55, AHXS T Z | R0
TR 3 SRR UL MERE A — e R AR T ORI I HE AT A

) HEERBL T L. B 2RISR ) B Rk 8 O i Ak A LG ITT & 37 e
) B ) AR B SR A5 A S e EME 2%, Blan: “Many of its 800 stores are
likely to close following the company’s decision to call in administrators after an
attempt to sell the business for a token £1 failed.” DA 2 “Known for low-priced
general goods, Woolworths has struggled in the face of competition from
supermarkets expanding beyond groceries and a new generation of internet retailers.”
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Questions 1 and 2 are based on the news report you have just heard.
1. A) Christmas-time attacks made by Somali rebels.
B) An explosion at a bus station in central Nairobi.
C) The killing of more than 70 Ugandans in Kampala.
D) Blasts set off by a Somali group in Uganda’s capital.
GEIHH . ZEFFD
. A) On Christmas Eve.
B) Just before midnight.

C) During a security check.




D) In the small hours of the morning.

GETIHUH . 2t (a)

3.

Kenyan police say one person was killed and 26 injured in an explosion at a bus
station in central Nairobi. The blast hit a bus about to set off for the Ugandan capital
Kampala. Last July, the Somali group al-Shabab said it was behind the blasts in the
Ugandan capital which killed more than 70 people. Will Ross reports from the Kenyan
capital.

The explosion happened beside a bus which was about to set off for an overnight
journey from Nairobi to the Ugandan capital Kampala. Some eye witnesses report that
a bag was about to be loaded onboard, but it exploded during a security check.
Windows of the red bus were left smashed, and blood could be seen on the ground
beside the vehicle. Just hours earlier, Uganda’s police chief had warned of possible
Christmas-time attacks by Somali rebels.

I.a]ﬂ H

1. What is the news report mainly about?

fift b : AR B8 “Kenyan police say one person was killed and 26 injured in an explosion at a
bus station in central Nairobi.” 5 %% B) An explosion at a bus station in
central Nairobi.

2. When did the incident occur?
fi# 7 : AR 4% “but it exploded during a security check.” 1§ %% C) During a security check.

Questions 3 and 4 are based on the news report you have just heard.
3. A) It is likely to close many of its stores.
B) It is known for the quality of its goods.
C) It remains competitive in the recession.
D) It will expand its online retail business.
GETR I . #4E close, stores, quality of goods, competitive, retail business 3| Fi
AFIREEEHRK.)

. A) Expand its business beyond groceries.
B) Fire 25,000 of its current employees.
C) Cut its DVD publishing business.

D) Sell the business for one pound.
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Woolworths is one of the best known names on the British High Street. It’s been in
business for nearly a century. Many of its 800 stores are likely to close following the
company’s decision to call in administrators after an attempt to sell the business for a
token £ 1 failed.

The company has huge debts. The immediate cause for the collapse has been
Britain’s slide toward recession, which has cut into consumer spending. However, the
business had been in trouble for years.

Known for low-priced general goods, Woolworths has struggled in the face of
competition from supermarkets expanding beyond groceries and a new generation of
internet retailers.

Many of the store group’s 25, 000 employees are likely to lose their jobs. Some
profitable areas such as the DVD publishing business will survive.

o) & :

3. What do we learn about Woolworths from the news report?

4. What did Woolworths attempt to do recently?

f#AT . #HE“Woolworths is one of the best known names on the British High Street. It's
been in business nearly a century. Many of its 800 stores are likely to close
following the company’s decision to call in administrators after an attempt to sell
the business for a token £1 failed.” "5 155 3 BIZA XK A) It is likely to close
many of its stores. DA &% 4 %% D) Sell the business for one pound. {H & H 4
P R AR B A B3], [R50 HE W B R B O 4 .

Questions 5 to 7 are based on the news report you have just heard.
5. A) All taxis began to use meters.
B) All taxis got air conditioning.
C) Advertisements were allowed on taxis.
D) Old taxis were replaced with new cabs.
6. A) A low interest loan scheme.
B) Environmentalists’ protests.
C) Taxi passengers’ complaints.
D) Permission for car advertising.
7. A) There are no more irregular practices.

B) All new cabs provide air-conditioning.




C) New cabs are all equipped with meters.
D) New legislation protects consumer rights.

G . M4 E 53R taxi Al cab AT AR IR MR AL

R

Cairo is known for its overcrowded roads, irregular driving practices and shaky old
vehicles, but also for its air pollution. In recent months, though, environmental studies
indicate there have been signs of improvement. That’s due in part to the removal of many
of the capital’s old-fashioned black and white taxis. Most of these dated back to the 1960s
and 1970s and were in a poor state of repair.

After new legislation demanded their removal from the roads, a low interest loan
scheme was set up with three Egyptian banks so drivers could buy new cars. The
government pays about $ 900 for old ones to be discarded and advertising on the new
vehicles helps cover repayments.

The idea has proved popular with customers—they can now travel in air-conditioned
comfort and because the new cabs are metered, they don’t have to argue over fares.
Banks and car manufacturers are glad for the extra business in tough economic times. As
for the taxi drivers, most are delighted to be behind the wheel of new cars, although

there have been a few complaints about switching from black and white to a plain white
colour.

2] 3% ;

5. What change took place in Cairo recently?

@4 . A3PE“That’s due in part to the removal of many of th ecapital’s old-fashioned black
and white taxis.” 7] 53 & %€ D) Old taxis were replaced with new cabs. 1 &
removal i replace 1 [7] X &k,

6. What helped bring about the change?

f#tr. #4E“a low interest loan scheme was set up with three Egyptian banks so drivers
could buy new cars.” 15 H& % A) A low interest loan scheme.

7. Why do customers no longer argue with new cab drivers?

%57 : H4E“because the new cabs are metered, they don’t have to argue over fares.” 1%
12448 C) New cabs are all equipped with meters. £75%k1{5 517 “because” 5| H i A
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LA 2013 4 12 A Conversation Two H i :
12. A) Bring him up to date on the current situation in Milan.
B) Inform him of the arrangements for his trip in Italy.
C) Fetch the documents signed by Mr. Gartner.
D) Accompany Mr. Gartner to the Linate airport.
13. A) About 8:30.
B) About 6:30.
C) About 5:30.
D) About 4:15.
14. A) Mr. Gartner from Milan.
B) Gianni Riva at Megastar.
C) The company’s sales representative.
D) Gavin from the Chamber of Commerce.
15. A) Travel agent.
B) Business manager.
C) Secretary.
D) Saleswoman.
BRI, 5 12 Bk & — R 5E3h, % 13,14, 15 F43 50 5C T if [a] A9 FE
b, BT DA BOHE H A X 3 AR A 56, LYK 12 81 H 58 At B KR A B R R HE” B
47 . “B&[F] Mr. Gartner Z2¥135” HIVAZEH WES , BB R R 15 B BLAY “secretary”
AT LAARHN , Xf 6 A KRB AL A g AR 22 [B] A 55 H B2 HE, - Aa] Bfa] 5 o] AR S5
S5, T LEFRATTAE T B K TE R 4R Hh B S 4 /N “ 07 b R B SRR I A AR .
2) HEER
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i 11 2012 4F 06 J Conversation Two H1:

20. A) He repaired bicycles.

B) He served as a consultant.

C) He worked as a salesman.

D) He coached in a racing club.
21. A) He wanted to be his own boss.

B) He found it more profitable.

C) He didn’t want to start from scratch.

D) He didn’t want to be in too much debt.

HrhwE B S EAR A He , BT Lot 248 ()8, B AR R Wi ot f o

WL ER I B A N A .
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LA 2013 4F 12 A Conversation Two A :
XPIEIEE T 4 AN[a] .
: What is the woman's occupation?
: What do we learn about MR Angelino’s business at its beginning ?
: What did MR Angelino say about advertising in business ?
: What does the man say contribute the success of the business ?

HBAFEXHE Tk ln) . WG — Ik L 425

“Good evening, and welcome to this




FG X

week’s Business World, a program for and about business people. Tonight we have Mr.
Angelino who...” [K] It 4 W7 H &b 9 BRI J& — 5 H 45 A D) Hostess of the weekly
“Business World”,

b 5t a5 . “Tell us, MR Angelino, how did you get started ? 7% 1 [n] %,
“I started off with a small diner, I did all the cooking myself and my wife waited on
tables, it was really too much work for two people”, 3 IEffii%£ 1 & B)He and his wife
did everything by themselves,

B R S h 4 T XA F) . “Do you advertise?” “Oh, yes. I don't have any TV
commercials because they are too expensive. but I have advertised a lot on radio and in

‘local newspapers.” %} 1 &% 24 %5 B)“He advertises a lot on radio and in newspapers ”,
AW B 2 A 27 EW

&g —fuh . W. “Why do you believe you’ve been very successful?”, 5 1-[1]
Z“T always served fresh possible food, and I make the atmosphere as comfortable and as
pleasant as I can so that my customers will want to come back again”, X i 1FEff§ £ 551 5 B)
The restaurant atmosphere.
3) HA B MRS E 2 U £

XoF 1 B 32 BN A BRI AR S BN UATE A AR VA 1 — N H U Y s gy =X
SR ERE, R R MRE A R R R X R Y

41 2011 4= 6 H E 3 Conversation Two H1%5 24 fi .
24. A) He hardly needs to do any advertising nowadays.

B) He advertises a lot on radio and in newspapers.

C) He spends huge sums on TV commercials every year.

D) He hires children to distribute ads in shopping centers.

eI E A B T “advertising” “advertises” “ads” ik £ L ia] , W UL S A 6,
M i 1 7] £32 “ What does Mr. Angeleno say about advertising his business?” L UF 5 1 X
~ ke
3. E B k5

ICAE D — o AR, TS AE A A B A sk ] R AT R e A4 b SR SR R
— 5B ARG E MRS 2 T B B8R, TEALLFILF
D FABCARS .

i equal B AL =7; “7”F/R “unequal”;“ 4 "f83K increase/up; “ v "R decrease/
drop/dip/fall; “<—” 75 JfL A result from/because/since/for/as; “—" 8T FH M 45 F .
lead to/result in/has become/turn into; “~~"{{ 3 about/almost; “>>” 7~ more than;
“<”FIR less than;“ + {3 include/cover;* — "M J& exclude %,

2) F FBCFFH AL B 2 5 5

B PR s H A [ 5 -5 138 19 18] 42 38 BT A0 B0 55, X RE B R 15 20 i i

N RE R P E 4R, I . twenty B X 20; nineteen eighty four ic4f 1984; $ =dollar; £

Gl A




=pound; 11 in the morning=11 am; 11 in the evening =11 pm %,
3 AEACHEERS

FEFif (I bt v DU FHANBIE — 2645 & A C S B4 mB AT S, 0 u aTfRR
understand(ing); m 7] {{; & mean (ing); m = minute; s = second; h = hour; imp. =
important/importance; nec.= necessary 55, W i f ip A b2 45 n E B P EH5IR, B
2 CRE W] P Le A5 Fr AR M B RIS,
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LA 2009 4F 6 A 1 P9 505 — 5 0T 1 R .

Q32: Why is life said to be difficult for Hollywood kids?
Q35: What will probably have negative effects on the lives of Hollywood kids?
32. A) The atmosphere they live in is rather unreal.
B) Their parents put too much pressure on them.
C) It’s hard for them to get along with other kids.
D) They have to live in the shadow of their parents.
35. A) The lifestyle depicted in Hollywood movies.
B) The worship of money., beauty and pleasure.
C) The attention the media focuses on them.
D) The pursuing of perfection in performance.

In Hollywood. everybody wants to be rich, famous and beautiful. Nobody wants to
be old, unknown and poor. For Hollywood kids. life can be difficult, because they grow
up in such an unreal atmosphere. Their parents are ambitious and the children are part of
the parents’ ambitions. (7 B)...Hollywood has always been the city of dreams. The kids
there live unreal lives where money, beauty and pleasure are the only gods. Will children
around the world soon start to think the same? Or do they already? (KEt)

AR BB AT FRATAR A 55 0 B i1, 32 B &P 2 AL 35 I R 2 B. ) {-:’ A
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14. A) He didn’t like physics any more.

B) His eyesight was too poor.

C) Physics was too hard for him.

D) He had to work to support himself.(D)
15. A) He was not happy with the new director.

B) He was not qualified to be an engineer.

C) He wanted to travel.

D) He found his job boring.(A)
16. A) He wanted to work with his friend.

B) He enjoyed traveling around the world.

C) He wanted to go to Spain.

D) He was rejected by the engineering firm.(C)
17. A) He enjoyed teaching English.

B) He wanted to earn more to support his family.

C) The owner of the school promised him a good position.
D) He could earn more as a teacher than as a travel agent.(B)

Wr QIR (EBS) R i) T

When I was at school, my ambition was to be a pilot in the Air Force. But my
eyesight wasn’t good enough. So I had to give up the idea. I went to university and
studies physics. I wanted to stay on there and do research, but my father died at about
that time. (14)So I thought I'd better get a job and earn my living. I started working in
an engineering firm. | expected to stay in that job for a long time. But then, they
appointed a new managing director. (15) I didn’t get on with him, so I resigned and
applied for a job with another engineering company. ...He offered me a job in Spain.(16)
And I've always liked Spain, so I took it. I worked in the travel agency for two years and
then they wanted to send me to South America. But I had just got married. So I decided to
stay here. (17)Then we had a baby and I wasn’t earning enough to support the family. So
I started giving English lessons at a school in the evening. ...

Questions 14 to 17 are based on the passage you have just heard.
14. Why did the man give up studying physics?

15. Why did the man resign from the engineering firm?

16. Why did the man take the job at the travel agency?

P >




17. Why did the man start to teach English part time?

55 14 A1 15 BURTE R UEES W &k,
514 B, IERRE R E D, BB M E5H “earn my living” #e il T ¥E T )
“support himself”, H-4% SU“HAE”, (D)

55 15 B, IEA A A, SRR S 4544 “not get on with somebody ™ # i, T 15
11 “not happy with somebody” , H % SUR“ 55 AMALR AL .

55 16 1 17 BURAER] .

5516 3, EFE R C, RAEESCH IS5 “T've always liked Spain”# i 1 35 1 )
“He wanted to go to Spain”.

17 8L EHEEE B, R E P A 45#5“] wasn't earning enough to support the
family.”#e s, T £ 1 (¥ “He wanted to earn more to support his family”,

3. T — R
XATTHEAEZ RT3 T2 B, AR A FBGR

4. %219 MR ik

o LA F) S T R ph A 2 e L, AR I AT — S B R AR H R
FHE TR TR, B BB B0 £ 0 3 3 3 A ok B 2 i (E R e . 53 o, J
VAl A B S VR AT LA 3% ST i EL AT DA 3%, il n 2007 45 12 H 45 24 .

A) Translator. B) Travel agent.
C) Language instructor. D) Environmental engineer.

Horp, A g3 ) translator BEEEF) T 3 Yk, W I R WE A SR, i At B 3] 44 oK Bk
B,

SR, W SO S L RATTAT LA H, CET #iX 8 2ok Ml 5% 2 p A BT
TR B A B ST VE AR A PR . 25 1A A 2 L S A s 980 S 4, 5B 20 4T P 2
AELARER N H 27 23 Jr k. Bl B B 7t — 20 ) FEAR HE R4 M BRBUs 5 i
B . A AT A R AR A B2 A S b R K2 SR DU R T 1 R

% H
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Section A

Directions: In this section, you will hear three news reports. At the end of each news
report , you will hear two or three questions. Both the news report and the questions
will be spoken only once. After you hear a question you must choose the best answer
from the four choices marked A), B), C) and D).

News Report One
Questions 1 and 2 are based on the news report you have just heard.
1. A) A recent explosion incident happened in Washington DC.

B) A shooting incident happened in Washington Navy Yard.

C) An introduction of a former Navy Reserve sailor in U.S.

D) The description of public reaction to a shooting incident.

2. A) He managed to run away after the shooting.
B) He was a former navy sailor around forties.
C) He was specialized in information technology.
D) He had never committed any crimes before.

News Report Two
Questions 3 and 4 are based on the news report you have just heard.
3. A) It landed on Mars twelve months ago.

B) It has driven less than 1.6 km? on Mars.

C) The name of the device is “Discovery”.

D) The size of the device is about a truck.

4. A) An ancient riverbed and a small lake.
B) Certain evidence for flying creatures.
C) Some used scientific instruments.

D) Some elements necessary for life.

News Report Three
Questions 5 to 7 are based on the news report you have just heard.

5. A) Most countries have thorough plans on controlling antibiotics.




B) Many people believe that antibiotics are useful against virus.
C) Few people use antibiotics because they know their dangers.
D) The overuse of antibiotics won'’t result in resistance to them.

. A) People use antibiotics because they are cheap.
B) Mr. Penn supports wide use of antibiotic drugs.
C) People can buy antibiotics without a prescription.
D) Most doctors suggest people use antibiotic drugs.

. A) Danger of the overuse of antibiotics.
B) A recent study conducted by the WHO.

C) The reason people like antibiotic drugs.
D) What we can do to keep a healthy life.

Section B

Directions: In this section, you will hear two long conversations. At the end of each

conversation s you will hear four questions. Both the conversation and the questions
will be spoken only once. After you hear a question, you must choose the best
answer from the four choices marked A), B), C) and D).

Conversation One
Questions 8 to 11 are based on the conversation you have just heard.
8. A) She is too exhausted to concentrate.

B) She keeps thinking about the seminar.

C) She isn’t interested in the book at all.

D) She doesn’t understand the content.

9. A) She thinks the course is useless.
B) She likes the course less and less.
C) The course is too difficult for her.
D) The course itself is really boring.

10. A) Chemistry.
B) English.
C) Psychology.
D) Philosophy.




